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WA 62.2 ERE 62.2 1,296 1,080 864 10
IZACA 315 E & 18.5 - 1,512 - 10 vay LL
IZALA BRE 11.3 1512 1,296 1,296 0] A L
ZIES5 1.0 BERE 0.6 2,052 — 1,944 2l A L
[E<ELY 121.8 ERE 118.0 1,620 1512 756 15[ A L
[E<E0LY N 2.4 1,188 — 864 12 vay 4
HTE 1.3 il 0.6 2,808 — 2,160 4l A L
—EOH 3.7 ERE 1.9 2,592 2,160 1,836 4 A M
FrRY 110.2 ERE 88.8 2,592 2,592 1,620 10 8
Fry = I 18.0 — 1,620 - 10 B
IE5NAZES 2.6 BERE 1.0 3,456 3,456 3,024 4f A M
hE 16.0 BRE 11.2 1,728 1,620 1,512 3l A LL
hE X & 3.2 - 756 - 3| vay S
Ch¥ 1.8 i B 1.3 4860 — 4212 3 L
LwA=E< 0.5 BERE 0.3 3,672 — 2,160 4l A
125 2.0 = I 15 7,020 5,400 4,860 5/ A M
+)L1)— 2.1 2 0.9 3,780 — 3,456 0] A L
T RINGHR 0.1
Hh)o257— 0.4 BRE 0.2 1,080 — 972 5/ A 6
JOyal)— 5.5 BRE 2.8 — 3,370 — 5/ A M
LARZR 41.2 E & 18.0 5,400 907 907 0] A 12
LAR BRE 16.1 4,320 4104 3,996 0] A
FoT YA 0.8 12 [ 0.2 972 — 864 2 A L
5l 19.2 BRE 14.9 2,592 2,160 2,160 5/ A L
=p5Y N 1.1 3,240 2,700 2,592 5] A L
ANESSES) 9.0 A¥LO 6.4 — 2916 — 10] vay 5
ANESSED) BRE 0.4 1,728 1,728 1,404 0] A
Y 1.6 EES 1.4 3,136 — 2851 8
B ERE 0.1 - 2,376 — 4l A LL
k< 48 BERE 25 2,700 - 2376 4] vay 24
k< BE X 1.7 324 — 194 0.5 4
I=kTh 5.2 BRE 3.9 227 194 184 02 A M
E—<> 15.2 BERE 14.0 6,156 4,860 4212 7.8 A M
F—<> ] 0.7 5,832 5,508 1,620 5 M
[ZA5Y 0.2 BRE 0.2 — 2,268 — 10] C Ve
SPVAITFA 1.6 BRE 1.6 2,808 2,700 2,160 2l A
SPZAES 1.9 BRE 1.8 — 1,512 — 2 B
MAL& 10.8 BRE 8.9 1,620 1,296 1,188 5/ A L
IEhLs 56.0 E 5 45.0 2,916 — 2,808 10 vay LL
[ES AT JtiEE 11.0 2,700 — 2,484 10 A L
=L 1.9 BRE 1.4 3,326 1,080 756 5
AL 15 5 # 1.0 - 4,968 — 0] A 4L
=FhE 54.2 JtiEE 54.1 3,672 1,696 1,696 20 La4
f=FhE JtiEE - 2,484 - 15
ELLV=T 2.0 BERE 0.1 — 119 — 0.1 L
HELLV=IT =l 1.3 173 173 162 0.1 A M
ZDEET 5.7 E I 25 70 70 60 0.1 A
ZDELET =l 1.2 65 — 44 0.1 A
LHL 26 2 [ 25 130 — 119 0.2
ESES T 605.6
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BMAMAET 20.1
A B M 19.3 B X 9.8 4,320 4,104 3,240 10 L
AR M B X 6,480 5,724 4,644 10 M
A B M B X 6,156 5,724 4,644 10 S
B4R K B 1.9 — 3,780 — 10{ 7hv2 L
A B M E 15 - 4,320 - 10[ 7hva M
A B M E 15 - 4,320 - 10[ 7h¥a S
iR 0.8 B X 0.8 - - - PR L
iR B X 5,724 — 5,184 0] A M
iR B K 6,480 — 6,156 10 A S
B 7.0 BRE 7.0 4,860 4,320 4,104 5| 7hva L
LEY 1.7 F 0.4 8,424 5,724 5,724 17 115
INLULT 1.7 = I 1.7 7,884 7,884 7,560 17 88
L7y 0.3 = I 0.3 6,696 6,480 6,264 15 48
SADMA 0.5 BRE 0.4 1,080 — 972 1 A L
L5 3.8 BRE 3.3 5,400 4320 3,564 3l A 4L
HhohrAED 24 BERE 1.7 2,160 — 1,296 5 B L
YAZE 20.3
PEFE=IAN 2.2 5 & 2.2 — 5,616 — 10] vay 32
AL 15.8 5 & 12.7 - 5,184 — 10[ 7hva 28
E# 0.9 5 & 0.9 5,076 — 4536 12 A
FRMYAZ 1.2 HF & 1.2 - 5,184 — 10l Y1 A 28
FEEAL 1.6 W 1.4 3,564 — 2,786 5
WEET 1.2
=45 0.7 2 [ 0.7 - 2,268 — 5] 1% L
ZTDHMEME 0.5
W5 2.3 BRE 1.3 1,728 648 648 025 A LL
AOVEF 5.5
7—IJLR 2.3 = I 0.7 9,180 — 8,640 9] A 6
FRAO 3.2 EES 3.2 7,128 — 6,480 gl vay 3L
INFF 13.4 EYEY 13.3 3,456 2,808 2,160 13
INMFyTIL 2.0 EYEY 2.0 3,240 2916 2,700 10 8
FoA4T)LY 1.7 = [ 1.1 — 2,700 — 3.6 A L
BEHE 86.4




